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5. BE. B, #5220 G

B Ol (F)
& g b2} By BE |2%5H| Fk& i WE BH |RIFFRE|BIAFES| BA (1) | AA(2)| RK b= AE | KH(1)
02 03 04 05 06 07 08 09 10 1 12 13 14
2= )
B EEE) vy Y—+H m3 [k 3,200 [sokk Kook 4,150 |k kK - 13,300 = ek 3,500 i ]
B ($8E) vy Y—+H m3 [k 3,300 [k Kook 4,150 |k kK - 13,500 = ek 3,500 i ]
BENERA 5~2. 5mm m3 [k 3,900 |k *okok 4,100 |#kx Aok 3,600 - 3,400 [#kx - s
HBEERA 13~ 5mm m3 [k 3,900 [sekk i 4,100 |#kx ok 3,600 - 13,400 |skk - [ 6,200 [Hkx
BHERA 20~ 13mm m3 - - - - - - - - - - - - - -
HERERE M-30 m3 [k 3,500 [sokk i 4,000 |k *okk 3,500  [sekk 3,300 [k 3,300 | 6,000 [k
MR ERA M-40 m3 [k 3,400 [sokk i 3,900 |#kx ok i L =[x 3,200 | 6,200 [k
BENERERA RM-30 m3 - - - - - - - = - = - - - -
KEEHMERER S Y HMS-25 m3 |k 3,200 2,800 |kkx 3,550 2,900  |#kx 3,000 2, 800 2,800 5,600 3,300 6,000 [*xx
V59 v—5UHBERS T (S-40 m3 |k 2,500 2,500  |kkx 3,150 2,170 |#kx 2,300 2,300 2,000 2,500 2,700 3,400  |kkx
ha=< §P m3 2,300 2,400 2,400 2,550 3,050 2,070 2,000 2,200 2,200 1,900 2,550 2, 600 3,300 1,600
®Aa 5~20mm m3 [k 3,400  [#¥x sokok 4,100 [k Fokok 3,600 |#kk 3,400  |#kk 3, 400 6,200 [#kk
=) 5~40mm m3 3,200 3,400 3,200 3,200 4,100 3,100 3,300 - - - 5, 800 3,400 6, 200 -
2539 x—52 C-30 m3_ [dekk 3,500 [#kk Kook 3,900 |k ®okk 3,500  [#kk 3,400  [#kk 3,200 | 6,000 [#xx
2539 x—52 G-40 m3  [dekk 3,400 |k Fokok 3,800  [#xx Hokok 3,400 |k 3,200 |k 3,100 | 6,000 [#kk
BEISYI XSy RC-40 m3  [dekk 2,500  |xkk Fokok 3,250  [#xx Hokok 2,300 |k 2,000 |*kk 2,700 | 3,400 [k
#EE m - - - - - - - = - = - - - -
EER 5~15¢cm m3 |k 3,900 |sokx Kook 4,200  [#kx ok 3,600  |sokx 3,600  |sekx 3,700 | 6,300 [#x*
EER 15~20cm m3 |k 4,200 |k Kook 4,400  [#kx ®okk = [k =[x 3,800 | 7,000 [#x*
2R 15ecmA 4t m3 4,000 4,200 4,000 4,200 - 3,400 3,700 3,700 3,700 3,700 - 3, 600 6, 500 3,300
BEER 5~15cm m3 - - - - - - - = - - - - - -
F) 1. BREEEEET S,
]
frt=] 5~100ke/{& m3 4,200 4,000 4,000 4,000 - - 4,800 - - - - - - 4,800
frt=] 200ke /1@ m3 5,200 4,700 4,700 4,700 - - 5, 800 - - - - - - 5,800
frt=] 300ke /1@ m3 5,200 4,700 4,700 4,700 - - 5, 800 - - - - - - 5,800
frt=] 500ke /1@ m3 5,200 4,700 4,700 4,700 - - 5, 800 - - - - - - 5,800
frt=] 1000ke /& m3 5,200 4,900 5,300 5,300 - - 5, 800 - - - - - - 5,800
B8 2000ke /1@ m3 - - - - - - - - - - - - - -
R (ERE) 1000ke/{E LA T m3 4,700 4,700 4,500 4,500 - - 4,800 - - - - - - 4,800
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([ hXEMEM ] SF3FI10A
5. BE. B, BE. avsU— rER
8 (M)
£ R b B BE |2%5H| Fk& g WE BHE | RIFFRER| BIFFEED| B (1) |Bm(2)| RHK j=3a AE | KH(1)
o1 02 03 04 05 06 07 08 09 10 11 12 13 14
EPVUEIN::I)
HIinvy # £ 35m m_|7.700 | 7,700 | 7,700 |7,700 | 7,700 | 7,700 |7.700 | 7,700 |7.700 | 7,700 | 7,900 | 7,700 | 7,900 | 7,050
WOy # & 220m m_[7.200 | 7,200 | 7,200 {7,200 |7.200 |7.200 |7.200 |7.200 |7.200 |7.200 |7,200 |7.200 | 7,200 | 8,000
F) 1. BREEEEET S,
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5. BE. B, #5220 G

B Ofli (F)
& g 3R iy B | K9 (2)| X9 (3)| B | #AR | Li# BB | K% (1) | X% (2)| FH rE ES | KAB | KH T
15 16 17 18 19 20 21 22 23 24 25 26 27 28
2= )
B RE) avHY—+H m3 3,200 | 3,000 [sekx 2,950 | 3,200 [skx ook - = ek - - | 2,900 -
B GAR) avy9Y—+HE m3 3,200 3,000 [ 2,950 3,200 |#kk i - 4,250  |kkx - 5,500 2,900 4,550
HBEERA 5~2. 5mm m3 3,400 3,400 ¥k 3,800 3,800 |#kk Fokok 4,100 4,000 |#kx - 5,150 4,000 4,400
HBEERA 13~5mm m3 3,400 3,400 ¥k 3,800 3,800 |#kx Fokok 3, 600 4,000 |#kx - 5,150 3,900 4,400
HBEERA 20~ 13mm m3 - - - - - - - - - - - - - -
RERERR M-30 m3 3,100 3,200  |#kk 3,300 3,600 |kkx bk 3,500 3,900 |kkx - 4,950 3,600 4,300
HERERE M-40 m3 - = e - L ok - = e - - - -
BEANERERA RM-30 m3 - - - - - - - - - - - = = -
KEEHMERER S Y HMS-25 m3 2, 800 2,800 2,400 3,000 3,200  |kkx 2, 800 3,400 3,500 3,000 - 4,550 3,300 3,800
V59 v—5UHBERS T (S-40 m3 2,000 1,900 2,050 2,300 2,500 |kkx 2,250 2,800 3,000 2,400 - - 2, 800 3, 600
ha=< §P m3 1,900 1,800 1,950 2,200 2,400 2,300 2,100 2,700 2,900 2,300 - - 2,700 3,500
=) 5~20mm m3 3,400 3,400  [#xx 3,050 3,600 |#kk Fokok 3, 600 3,850 |#kk - 4,950 3,700 4, 650
=) 5~40mm m3 3,400 - 2,500 3,050 3,500 2,950 3,000 3, 600 3,750 3, 600 - 4, 850 3,700 4, 550
D39y xv—52 G-30 m3 3,100 3,200  [#xx 3,200 3,500 |kkx sokok 3,400 3,800 |kkx - 4, 850 3,600 4,200
D39y xv—52 G-40 m3 2,800 2,800 [#*x 3,100 3,400 |kkx bk 3,300 3,700  |kkx - 4, 750 3,500 4,100
BEISYINYIY RC-40 m3 2,000 1,900 [k 2, 300 2,500 |kkx $okok 2, 800 3,000 |kkx - 4,150 3,050 3, 600
#EE m - - - = - - - - - - - - - -
EER 5~15¢cm m3 3,400 3,400  [#xx 3,800 3,550  |kkx Fokok 3,500 3,700  |kkx - 4,900 3,600 4,400
EER 15~20cm m3 - - [HEx - 4,050 |#kx bk 3,600 4,100  |kkx - 5,400 - 4, 800
2R 15ecmA 4t m3 3,500 3,500 3,300 3,900 4,050 3,950 3,400 3, 600 4,100 3,700 - 5,400 4,200 4, 800
BEER 5~15cm m3 - - - - - - - - - - - - - -
F) 1. REEEEET S, 2. BEE@25). KAB@O)HRIFT7z) —BEEED,
]
fiz=] 5~100ke/{& m3 4,800 - 4,900 4,700 4, 400 4, 400 - - - - 4,800 5,500 - 5,200
fiz=] 200ke /1@ m3 5, 800 - 5, 600 5,400 5,100 5,100 - - - - 5, 800 6,400 - 5,900
fiz=] 300ke /1@ m3 5, 800 - 5, 600 5,400 5,100 5,100 - - - - 5, 800 6,400 - 5,900
fiz=] 500ke /1@ m3 5, 800 - 5, 800 5, 600 5,300 5,300 - - - - 5, 800 6, 600 - 6, 100
fiz=] 1000ke /& m3 5, 800 - 5, 800 5, 600 5,300 5,300 - - - - 5, 800 6, 600 - 6, 100
B8 2000ke /1@ m3 - - - - - - - = - - - - - -
R (ERE) 1000ke/{E LA T m3 4,800 - 4,800 4, 600 4,300 4, 300 - - - - 4,800 5,500 - 5,100
F) 1. BEBLBRACEL) @KET S, 2. BE(25). KAB@ORFT7z) —BEZED,
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5. BA. B, BE. IV —rEE
Ol (M)
% L b % B | K9 (2)|K%(3)| B | BAR | L# &l | KB ()| KH(2)| FH T EE | KAB | KH s
15 16 17 18 19 20 21 22 23 24 25 26 27 28
DY)
#Jowvy 25 35em m_|7.700 |7.700 |7.700 |7.700 | 7,700 |7.700 | 7,700 |7.700 | 7,700 |7,700 | 7,700 |7,700 | 7,700 | 7,700
EHIOyy #E220m m | 7200 [7.200 |7.200 |7.200 |7.200 {7,200 |7.200 |7,200 |7.200 |7.200 [7.200 |7.200 |7.200 | 7,200
F) 1. RBEREMET S, 2. IEE(25. KABQOHMRFTz —BEZEL,




